MIAM IDADE MIAMI-DADE COUNTY, FLORIDA
e METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Besam Automated Entrance System, Inc.
84 Twin Rivers Drive
Hightstown, NJ 08520-5213

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Power Glide Model AMD-2” Automatic Aluminum Sliding Glass Door-Impact

APPROVAL DOCUMENT: Drawing No. WB19710, titled “Power-Glide AMD-2 Windbreaker Door System
Fixed Sidelite BI-Parting Sliding Door”, sheets 1 through 6 of 6, prepared, signed and sealed by manufacturer,
dated 3/4/02, bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance
number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-0502.08 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Raul Rodriguez.

NOA No 02-0313.05

Expiration Date: December 08, 2003
Approval Date: May 09, 2002

Page 1




®

AUTOMATIC DOOR SYSTEMS

TELEFAX:

81 TWIN RIVERS DRIVE
HIGHTSTOWN, NJ 08520-5212
TELEPHONE: 609-443-5800.
609-443-3440.

POWER-GLIDE AMD-¢

WINDBREAKER DOOR SYSTEM
FIXED SIDELITE BI-PARTING SLIDING DOOR.

#14 x 5’ S.ST. wOOD

|110 VAC. 60 HZ. 10A. SCREW TYP. 15 PLCS.

| BY ELECTRICAL

CONTRACTOR. ROUGH DPENING

#14 x S S.ST. wOOD
SCREW TYP. 8 PLCS.
EACH JAMB TUBE

= | = =

= == == = o= =
=‘, 1 1 L

[ 40-3/4°

e e
T

FFL.

AND INSTALLED FINISHED TO MEET
ARCHITECTURAL REQUIREMENTS AS
NECESSARY BY OTHERS.

i | | 1 | I
2x PRETREATED wOOD BUCK SUPPLIED

— 13

1/4° x 2-1/4* PERMA-SEAL
TAPPER SCREW TYP. 1S PLCS,

“HURRICANE PROTECTION SHUTTERS ARE NOT REQUIRED’ DPR +/- 70 PSF

EXTERIOR ELEVATION (N.T.SO

2XeXx1/8° AL, ANGLE
S/LITE STOP,

#10 x 17 S.ST.

SELF

TAPPING SCREW TYP.
6PLCS. EACH S/LITE.

-

MAX. 1/4°

#10 x 17 S.ST. SELF
TAPPING SCREW TYP.
18 PLCS. EACH DOOR.

SHIM SPACE

48-1/2°

1-172x2x1/8 STL. TUBE
WELDMENT, HOT DIP
GALVANIZED, MTD IN
VERTICAL STILES 6PLC

~—8 3/4"—==—12" TYPi
cESESZd
4 1/8' ’ \ . \
| I Il \— ROUGH
| OPENING
| /A
.
1o* ‘ [ / A\
7 | | "
L '+= '
#4 x 5 —/|/ | l o ]
SCRE)\(-I 58 FS’LSJS \'é[;?:rl]-i TLQ\‘ kR

Ve

#14 x

S S.ST. wOOD

SCREW TYP. 1S PLCS.

2x PRETREATED wOOD
BUCK SUPPLIED AND
INSTALLED BY OTHERS

TOP & BOTTOM

HORIZONTAL RAILS

\

)

.

% #10 x 1 SST. SELF
TAPPING SCREW TYP.
18 PLCS. EACH DOOR.

T TS——— #10 x 2* SST. SELF
TAPPING SCREW TYP.

— 18 PLCS. EACH DOOR.

EXTERIOR ELEVATION (SCALE 1:4)

A

SILL:

NOTE: FROM NDA #96-0119.07
4.1 SCREWS & METHOD OF ATTATCHMENT
SINGLE ROW OF FIFTEEN (15> #14x3’ FH SS WS, WITH 1-1/2° MIN, PENETRATION
INTO 2x wOOD BUCK, STAGGERED THRU SILL TRACK & GUIDE SLIDE TRACK
SINGLE ROW OF FIFTEEN <15) 1/4°x2-1/4° RAWL PERMA-SEAL TAPPER, WITH

A 1-172° MIN. PENETRATION INTO MASONRY, STAGGERED THRU SILL TRACK,
SINGLE ROW OF FIFTEEN (15> 1/4°-20 SS SELF TAPPING SCREWS OR CARBON
STEEL TEK SCREWS, INTO A 12 GA. MIN STEEL STUDS, STAGGERED THRU SILL
TRACK & GUIDE SLIDE TRACK, ALL LDOCATED AT B-3/4° FROM EACH CORNER

WITH REMAINING SPACED AT 12° O.C. MAX.

AT 12° O.C. MAX

INTO 2x wOOD BUCK, THRU JAMB TUBE

SINGLE ROW OF FIFTEEN (15> #14x5° FH SS WS, WITH 1-1/2° MIN. PENETRATION

INTO 2x wOOD BUCK, THRU HEADER TUBE AND STEEL STIFFENER

SINGLE ROW OF FIFTEEN (15> 1/4°x5° RAWL PERMA-SEAL TAPPER, WITH

A 1-1/2* MIN. PENETRATION INTO MASONRY, THRU HEADER TUBE AND STEEL STIFFENER
SINGLE ROV OF FIFTEEN (15> 1/4°-20 SS SELF TAPPING SCREWS OR CARBON STEEL
TEK SCREWS, INTO A 12 GA. MIN STEEL STUDS, THRU HEADER TUBE AND STEEL
STIFFENER, ALL LOCATED AT B-3/4° FROM EACH CORNER WITH REMAINING SPACED

SINGLE ROW OF EIGHT (B> #14x5° FH SS WS, WITH 1-1/72° MIN. PENETRATION

SINGLE ROW OF EIGHT (8> 1/4°xS5’ RAWL PERMA-SEAL TAPPER, WITH

A 1-1/2° MIN. PENETRATION INTO MASONRY, THRU JAMB TUBE

SINGLE ROW OF EIGHT (B> 1/4°-20 SS SELF TAPPING SCREWS OR CARBON STEEL

TEK SCREWS, INTO A 12 GA. MIN STEEL STUDS, THRU JAMB TUBE,

ALL LOCATED AT 4 1/8° FROM EACH CORNER WITH REMAINING SPACED AT 12° OC. MAX

S —,

|

INTERIOR SID

7

.

=i NN (I j——

Ay

L
T

0*

—

CLEAR DOOR

OPENING

]

A/R FLUSHBOLT
LOCK SYSTEM

—

A
m N
| | ]
4

S

=

/

- CAULK BOTH SIDES

1-3/4° x 4-1/2°
JAMBTUBES

PIVOT —/

/

M

48-1/2*

i\
POINT S* HEEL RAIL TYP.—)

/

A\

SHIM AS REQUIRED
& CAULK ALL ROUND

PLAN VIEW (SCALE 12>

2x PRETREATED wOOD
BUCK BY OTHERS

#10 x 2" S.ST. SELF —/
TAPPING SCREW TYP.
18 PLCS. EACH DOOR.

ROUGH OPENING 185-1/2° INSIDE BUCK DIM'N.

A/R 3-POINT —/
LOCK SYSTEM

185 OVERALL FRAME DIM'N.

EXTERIOR SIDE

\ 5 NDSE RAIL TYP,

TIE ROD CONSTRUCTION
WITH STEEL STIFFENERS

2x PRETREATED WOOD ——.
BUCK BY DTHERS NS
1 8-1/4"——
~
ROUGH OPENING—~__ | -
1 374
|
20
z
E .
a 2
>
Y =
O [E j‘
2 ™
m T
W=
="
—
%)
Z U
&
-
¥
S o
D ", X
I
U\ -
¥
>
o
o
EXTERIOR
—1/2*
FFL.

— MAX, 1/4°
SHIM SPACE
— (1-3/4x4-1/2x1/8>*

A

HEADER TUBE WITH
174 x 4° HOT DIP
GALVANIZED STEEL
STIFFENER BAR.

1-1/4* GLASS STOPS
W/SILICON SEALANT
DOW CORNING #99S
TYP. ALL ROUND

INTERIOR

—1/4 TEMPERED GLASS
WITH 4510 COMPOSITE
DUPONT SENTRYGLAS.

OPTIONAL GLAZING
DUPONT SGFG 457

DOOR OPENING

82 3/4'

|- CONCEALED W/BRUSH
- IN BOTTOM HORIZONTAL

SIDE ELEVATION (SCALE 1:2

172° x 4-1/2° THRESHOLD

SEALANT

174° x 2-1/4° PERMA-SEAL
TAPPER SCREW TYP. 15 PLCS,

DWG. # WBI19710 (REV. C 03/02>

WINDBREAKER DOOR SYSTEM

DPR +/- 70 PSF

SHT. 1 OF 6 REV. C

03-01-02

PRODUCT REVISED

& complying with the Florida
Buiding Code




. ® 81 TWIN RIVERS DRIVE POWER-GLIDE AMD-?2
ey HIGHTSTOWN, NJ 08520-5212 — 7 , EXISTING GLAZING.
TELEPHONE: 609-443-5800. WINDBREAKER DOOR SYSTEM /78 T:t+ — 1 /8" 1/4 TEMPERED GLASS
AUTONATIC DOOR svsTems TELEFAX:  609-443-3440, |FIXED SIDELITE BI-PARTING SLIDING DOOR. j

i . WITH 4510 COMPOSITE
COSMETIC ONLY /—@ DUPONT SENTRYGLAS
P TOTAL THICKNESS .305¢

@ THIS SIDE@
OPTIONAL GLAZING.\ ‘
1/4* TEMPERED GLASS .‘ \

WITH 457 COMPOSITE ( : ) N ii

DUPONT SENTRYGLAS _ |
WITH FLOATING CAP N \ —
TUTAL THICKNESs 597¢

\('//
X
]
1/4” i

172" GLASS BITE

@N EXTERIOR J v, %X
. ]
B N
> = L —0 /
M O -+
EXTERIOR = =
: INTERIOR
. ]
7//
h ?
TYPICAL WET GLAZING CROSS SECTIONS U

8 |FLOATING CAP 457 SENTRY GLAS. |457 SGFG

7 |RUBBER GLASS SETTING BLOCK. 1/2x1/2x2"

6  |GLASS GUTTER EXTR. DIE# 32668

5 1/4” TEMP. 4510 SENTRY GLAS. |4510 SG PRODLCT evigep

4 |WET GLAZE SILICON, D.C. #995 2uidi:£‘é::iw"h""n"”d‘

Cceeptance No - -

3  |GLASS STOP EXTR DIE# TS51312 1340 Expiration g 37000

© _|#10x2” FH SCREW SELF TAPPING. |ST. STEEL. TA e e e ey ¢ g | Mekidgt )

1 #10x1” FH SCREW SELF TAPPING. |ST. STEEL VINDBREAKER DOUR SYSTEM | “Divisgn © 1" Conirol
ITEM # DESCRIPTION REMARKS ] i TYP. WET GLAZING SECTIONS




AUTOMATIC DDOR SYSTEMS S

TELEFAX:

81 TWIN RIVERS DRIVE
>, HIGHTSTOWN, NJ 08520-5212
TELEPHONE: 609-443-5800.
609-443-3440.

POWER-GLIDE AMD-2

WINDBREAKER DOOR SYSTEM
FIXED SIDELITE BI-PARTING SLIDING DOOR.

82-7/16"

A

=

el &

)

5
®

e

1l

le—1-7/8" —]
>

Sl

SECTIDN ‘C-C*

~—1-7/8" —

1-1/4"

L (d
L /, 2 5/8" -—5/8°
7/ —]
2
’ : 11740 e 3/4- 3
HORIZONTAL PREP FOR GUIDE RAIL
7 VIEW “E*
SECTION “A-A*
24 | 4 JGLASS BLOCK TPR565 /3 %172 %2
/ @ 23 | 18 [STOP SCREW - ST. STL. #10x2° FHST,
22 | 18 |GUTTER SCREW - ST. STL. WI0xL° FHST,
21 | 4 |CLIP <DOOR RAIL 828290
20 | 1| VEATRERBRUSH PILE 7936-6001-6
B @ E 19 | 6 |MTG BOLT (STIFFENERD 174-20TPI. HACS
/ R J 18 | 1 | BREAK-DUT SWITCH ASSY. B28250 REF. INSTALL DWG.
17 | 1 | STIFFENER 328776
SECTION “B-B* 16 | 2 | CONTAINMENT EXTR. (TIE ROD)| 32664 DIE_DWG.
@ 15_| 1 _[ROLLER GUIDE SLIDE TRACK | 4934XA DIE_DWG.
(:) 14 | 2 |GLASS STOP EXTR (VERT» 751312 DIE DWG.
13 @ 13 | 2 |STL. WASHER a28072
12 | 4 |3/8 FLANGED NUT 378-167PL
WY 11_| 2 |7TENSION (TIE) ROD 3/8° 3/8-167PL STL.
10| 1 | WEATHERBRUSH PILE 8634-5771-1
- \ 05 | 1| VERTICAL (NDSE) RAIL 5° H31044-A| DIE DWG.
08 | 2 |GLASS GUTTER EXTR, (VERT»> | 32668 DIE DWG.
07 | 1| VERTICAL (HEEL) RAIL 5° H31048 DIE DWG.
@ F 96 | 3 | DELTA MTG. CLIP A28349
05 | 1 | BOTTOM RAIL 7° H32711-B | DIE DWG.
| ] 04 | 2 [GLASS STOP EXTR. (HORIZ> | 751312 DIE DWG.
03 | 2 | HORIZ. RAIL CLIP A28283
j -4 02 | 2 |GLASS GUTTER EXTR. (HORIZ) | 32668 DIE_DWG.
48-1/2° \ 0L | 1 |70P RAIL 3 13/16° R32710 DIE DWG.
/A ITEM# | QTY, DESCRIPTION DWG.# REMARKS
VIEW ‘D @ . @
~ | 5 A
. ! 7 PRODUCT REVISED

as complying with (he Florida
e

Buiding Cod

Acceptance No 02-0) 15,05

K.3piration Date
»

By
DWG. # WB19710 (REV. C. 03/02) Mismi p,
WINDBREAKER DOOR SYSTEM /Division

SHT. 3 OF 6 REV. B

SIDELITE LHS.

09-20-01




® |

AUTOMATIC DOOR SYSTEMS s

81 TWIN RIVERS DRIVE
HIGHTSTOWN, NJ 08520-5212
TELEPHONE: 609-443-5800.
609-443-3440.

TELEFAX:

POWER-GLIDE AMD-2

FIXED SIDELITE BI-PARTING SLIDING DOOR.

WINDBREAKER DOOR SYSTEM

|

SEE LOCK RAIL
PREP. DWG. B28791.

40-3/4°
T\

C

»

AR

li

\
i

[~ 1-3/4" —]

)/

@— | LU
‘ )|

81-1/8"
§ l
©

:

X7 ]
o |

_J‘\;

SECTION *A-A”

®

)
! <
P I ) B
@ T // pd /"\/(/
74
r(a

34

[

A

A®

-

SECTION “B-B* :

L

le—1-7/8" —

~

@)
-

\

£L

5 /

@__/

VIEW “D”

A

B> 1-7/8"—

o2
| N

_/

48-1/2°

[ws

|
LITTNN

AL LA LY

@___/

1-1/4°

T SECTION “C-C*

/4

HORIZONTAL PREP FOR GUIDE AND BALLCATCH

VIEW ‘E®

2 1/4'~'——~ t

25 | 1 [3-POINT LOCK SYSTEM A/R 4015/4016 COMBO

24 | 4 |GLASS BLOCK TPRS65 1/2°x1/2°x2"

23 | 18 |STOP SCREW - STSTL #10x2° FHST.

22 | 18 |GUTTER SCREW - ST.STL. #10x1°_FHST,

21 4_|CLIP (DOOR RAIL B28290

20 | 1 | WEATHERBRUSH PILE 7936-6001-6

19 | 12 |MTG BOLT (STIFFENER 1/4-20TP1._HHCS

18 1_IPSA (PANIC ARM> ASSY. A2-831437

17_| 2 |STIFFENER B28776

16 | 2 |CONTAINMENT EXTR. CTIE RODY| 32664 DIE_DWG.

15 1 | DOOR SWEEP KIT B2B375

14 | 2 [GLASS STOP EXTR. (VERT» 151312 DIE_DWG,

13 | 1 |ROLLER GUIDE ASSY. A28078

12 | 4 |3/8 FLANGED NUT 3/8-16TPL

1 2 | TENSION (TIE) ROD 3/8° 3/8-16TPL._STL,

10 1 | WEATHERBRUSH PILE 8634-5771-1

05 | 1 | VERTICAL (NOSE) RAIL 5° H31044-A | DIE DWG,

08 | 2 |GLASS GUTTER EXTR. (VERT.) | 32668 DIE_DWG.

07 | 1 | VERTICAL (HEEL) RAIL 5" H31048 DIE DWG.

06 | 1 | BALLCATCH LATCHPLATE 831616

05 | T |BOTTOM RAIL 7° H32711-B | DIE DWG.

04 | 2 |GLASS STOP EXTR. (HORIZ) | 751312 DIE_DWG.

03 | 2 |HORIZ. RAIL CLIP A28283

02_| 2 |GLASS GUTTER EXTR. (HORIZ) | 32668 DIE_DWG.

[ 1 | 7TOP RAIL 2 1/2° H2979 DIE_DWG.

ITEMS | QTY. DESCRIPTION DWG.# REMARKS

PRODUCT REVISED
#3 complying with the Florida
Bulding Code
Acceptance No 02-03(3.0S
Expiration Date >

DWG. # WBI9710 (REV. C. 03/02>
WINDBREAKER DOOR SYSTEM

SHT. 4 OF 6 REV. B
ACTIVE LEAF LHS.
09-20-01

ivision




AUTOMATIC DOOR SYSTEMS s

[

TELEFAX:

81 TWIN RIVERS DRIVE
HIGHTSTOWN, NJ 08520-5212
TELEPHONE: 609-443-5800.

609-443-3440,

PUWER-GLIDE AMD-2

WINDBREAKER DOOR SYSTEM
FIXED SIDELITE BI-PARTING SLIDING DOOR.

le—1-7/8% — @

N
\\_——J ~
i
. L e
. ~ .
! ™ \
@ ~""] N o
T I ™ —
® o=l IV
"
Ve
r 374’
(16) -
SEE RECVR. RAIL } \\
PREP. DWG. B28792, 7 ‘ e 1r74*
/A HORIZONTAL PREP FOR GUIDE AND BALLCATCH
@D\ VIEW "E*
=A A—
SECTION “A-A° /—@ 25 | 2 [FLUSHBOLT WITH HOOKLATCH | A/R 185071870 COMBO
24 | 4 | GLASS BLOCK TPRS65 1/2°x1/2'x2"
! 23 | 16 |STOP SCREW — STSTL. #10x2* FHST.
b @ 22 | 18 | GUTTER SCREW - ST.STL. #10x1° FHST,
/A < 21 | 4 |CLIP (DOOR RAID B28290
N 20 | 1 | WEATHERBRUSH PILE 7936-6001-6
= 15 | 6 |MTG BOLT (STIFFENER) 1/4-20TPL_HHCS
1 ju—v 18_| 1| PSA (PANIC ARM> ASSY. 831437
17 | 2 | STIFFENER B26776
— 16 | @ |CONTAINMENT EXTR. (TIE ROD)| 32664 DIE_DWG.
SECTION “B-B 15 | 1 | DOOR SWEEP KIT 28375
14 | 2 |GLASS STOP EXTR. (VERT> | 751312 DIE_DWG.
S /A 13 | 1| |ROLLER GUIDE ASSY. A28078
12 | 4 |3/8 FLANGED NUT 3/8-16TPL
N f 1 2 | TENSION C(TIE> ROD 3/8° 3/8-16TPL _STL.
, . 10 1| WEATHERBRUSH PILE B8634-5771-1
| ® 05 | 1 | VERTICAL (NOSE) RAIL 5° H31044-A | DIE DWG.
O O O O N 08 | 2 [GLASS GUTTER EXTR. (VERT. | 32668 DIE_DWG.
| | 07 | 1| VERTICAL (HEEL) RAIL 5° H31048 DIE_DWG.
L - 06 | 1| BALLCATCH LATCHPLATE 831616
. ‘ 05 | 1 _|BOTIOM RAIL 77 H32711-B | _DIE DWG.
N\ l 04 | 2 |GLASS STOP EXTR. (HORIZ> | 751312 DIE_DWG.
48-1/2 03 2 | HDRIZ. RAIL CLIP A28283
]
@ 02_| 2 |GLASS GUTTER EXTR. (HORIZ) | 32668 DIE_DWG.
VIEW “D* 01 1__|T0P RAIL 2 1/2° H2979 DIE_DWG.
ITEM# | QTY. DESCRIPTION DWG.# REMARKS
—
) PRODUCT REVISED
as complying with the Florig
1 Buiding Code a
Acceptance No 02-0313.05
Expiratioy Date [2]0¢ o3
Viam ductContrg
I8 A —~ 1-1/4- W DWG. # WBI19710 (REV. C. 03/02) | Division

SECTION -C-C*

WINDBREAKER DOOR SYSTEM

SHT. 5 OF 6

REV. B

ACTIVE LEAF RHS.

09-20-01




B ® . 81 TWIN RIVERS DRIVE POWER-GLIDE AMD-2

‘ —_—
HIGHTSTOWN, NJ 08520-5212 WINDBREAKER DOOR SYSTEM

TELEPHONE: 603-443-5800.
TELEFAX: 609-443-3440, | FIXED SIDELITE BI-PARTING SLIDING DOOR.

@ ‘
o—

AUTOMATIC DOOR SYSTEMS

-9
f.

1-374~

®

|
B>

\g@

6
7
—1/4'g:>
®

3-13/1
N

11111

—| 1-1/4"

/
B>
jae
/?

S5/8% — -2 S5/8°

82-7/16*

N 7'
14 -t
. .
.\ 374+ 11740
. . HORIZONTAL PREP FOR GUIDE RAIL
—I— N— : VIEW ‘E’
SECTION “A-A’ /
C 24 | 4 [GLASS BLOCK TPRS65 172°x1/2"x2"
4 23 | 18 |STOP SCREW — ST. STL. #10x2* FHST.
22 | 18 | GUTTER SCREW - ST. STL. #10x1" FHST.
21 | 4 [CLIP (DOOR RAIL 828290
1 20 | 1 | WEATHERBRUSH PILE 7536-6001-6
19 | 6 |MTG BOLT (STIFFENERD 174-20TP1. HHCS
B SECTION “B-B* 18 | 1 | BREAK-OUT SWITCH ASSY. 528250 REF. INSTALL DWG.
17 | 1| STIFFENER 528776
16 | 2 |CONTAINMENT EXTR. (TIE RODY| 32664 DIE_DWG.
@ 15 | 1 |ROLLER GUIDE SLIDE TRACK | 4934XA DIE_DWG.
@ 14 | 2 |GLASS STOP EXTR. (VERTY | 151312 DIE_DWG.
@ 13 13| 2 |STL. WASHER A28072
12_| 4 |3/8 FLANGED NUT 3/8-16TPL.
11| 2 |TENSION (TIE) ROD 3/8° 3/8-16TPI, STL,
e 10 1__| WEATHERBRUSH PILE 8634-5771-1
N \ 09 | 1_[VERTICAL (NOSE) RAIL 5 H31044-A | DIE DWG.
/ N 08 | 2 |GLASS GUTTER EXTR. (VERT | 32668 DIE DWG.
07 | 1| VERTICAL (HEEL) RAIL 5° H31048 DIE_DWG.
06 | 3 |DELTA MTG. CLIP AZ8349
l—‘ 05 | 1 _|BOTTOM RAIL 7° H32711-B | _ DIE_DWG.
04 | 2 |GLASS STOP EXTR. (HORIZ> | 151312 DIE_DWG.
| J 03 | 2 |HORIZ. RAIL CLIP A28283
Y 02 | 2 [GLASS GUTTER EXTR. (HORIZ) | 32668 DIE_DWG.
7 \ 01 1__|TOP RAIL 3 13/16° H32710 DIE_DWG.
48-1/2° A & | ITEM# | @TY. DESCRIPTION DWG4 REMARKS
]
A 5* \ } f PROD;CT REVISED
3 — 8scomplying with the Florim
t —— — Buiding Code
o / c!m?["}v .T
@ A TTENAN ®
~ Il ‘.H,-‘HUJ‘IIIE ,E
D (- |
<IIGIL TN, -
l 2 | nm— ‘ DWG. # WB19710 (REV. C. 03702
s v WINDBREAKER DOOR _SYSTEM
SHT. 6 OF 6 REV. B
23
1-1/4" (= A SECTION “C-C 1’ O 5 A 05;1_]52%1-{]% RHS.




